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problem 21 Factor
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martin@M2037:~$ factor 120
120:22235

problem 4 In days of Olde
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problem 5 Pythagoras
Bk B b e AR E AR N A R B . SXARIRARRS T (AR B B R e e s B B e .
ST R R T R s, VLT R BURER A RS A N R B4 i, TR BT P I 2B AR
ARG TR E . Ak, SRR, A e B SR AR R, PR SE AL B E b
[FIFIERE, 1% (3, 4, 5) Ml (5, 12, 13) KEEII B KA BEEOE A IR %, 1 H BRI AN 666666 112k
=AM, AALEMARE, #is, 8, 10).

BE


https://blog.csdn.net/weixin_30294021
https://so.csdn.net/so/search/s.do?q=%25E6%2593%258D%25E4%25BD%259C%25E7%25B3%25BB%25E7%25BB%259F&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=java&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=c%252Fc%252B%252B&t=blog&o=vip&s=&l=&f=&viparticle=
http://www.cnblogs.com/Martinium/p/electrica_writeup.html
http://www.caesum.com/game/problems/math_1a.php
http://caesum.com/game/problems/crypt_1.php
http://caesum.com/game/problems/math_1.php

#include <stdio.h>
#include <math.h>

// gcc problem5.cpp -o test -Wall -lstdc++ -1m
int main()
{
const int AREA = 666666 * 2; // a*b
int max = static_cast<int>(sqrt(AREA));
for(int a = 2; a < max; ++a)

{
if(AREA % a != 0)
continue;
int b = AREA / a;
int cc = a*a + b*b;
int ¢ = static_cast<int>(sqrt(cc));
if(cc == c*c)
printf("(%d, %d, %d)\n", a, b, c);
}
return 0;
}
problem5.cpp

problem 6 Keyword
i L EXEMZ &, FOllyDbgT.H, 2 exepuzz0.exe ¥ % OllyDbg 7t i HN#k .
HAT—VIER, C8A A2
LG ARIL B | R bn 44, Search for => All referenced strings

Search - Text strings referenced in exepuzz0, item 2

Address = 00401141

Command = PUSH OFFSET 00402010

Comments = ASCII "The solution you need is "


http://www.caesum.com/game/problems/exepuzz0.zip

Flinux # i 4-strings i i AT TN 7455 ef, B A FTBERT
KIL T cmbipof #1 1"1B1G1V1g111{1

F T bR 1) R R XU HE 1) R £ MessageBox
martin@M2037:~$ strings exepuzz0.exe
This program must be run under Win32
CODE

‘DATA

.idata

.reloc

cmbipof

The solution you need is

Correct key

Incorrect key

Incorrect key

Blah, see if | care

Blah

USER32.dll

KERNEL32.dll

DialogBoxParamA

EndDialog

MessageBoxA

SendDlgltemMessageA
GetModuleHandleA

1'1B1G1V1g111{1

TR LA R Ge ki3

Address Hex dump Command

004011C8 $- FF25 58304000 JMP DWORD PTR DS:[<&USER32.DialogBoxParamA>]
004011CE $- FF25 5C304000 JMP DWORD PTR DS:[<&USER32.EndDialog>]

004011D4 $- FF25 60304000 JMP DWORD PTR DS:[<&USER32.MessageBoxA>]
004011DA $- FF25 64304000 JMP DWORD PTR DS:[<&USER32.SendDlgltemMessageA>]
004011E0 $- FF25 6C304000 JMP DWORD PTR DS:[<&KERNEL32.GetModuleHandleA>]

Address Hex dump Command Comments

004010FF |. A1 0020400 MOV EAX,DWORD PTR DS:[402000] ; ASCII "cmbipof"
00401104 |. 50 PUSH EAX;; /Arg1 => ASCII "cmbipof"

00401105 |. E8 62FFFFF CALL 0040106C ; \exepuzz0.0040106C

0040110A |. 59 POP ECX

K HPUSHF A FRETEAX, it POP ECX ik .



CPU Disasm

Address Hex dump Command Comments

0040106C /$ 55 PUSH EBP ; exepuzz0.0040106C(guessed Arg1)
0040106D |. 8BEC MOV EBP,ESP

0040106F |. 33D2 XOR EDX,EDX

00401071 |. 8B45 08 MOV EAX,DWORD PTR SS:[ARG.1]
00401074 |. EB 02 JMP SHORT 00401078

00401076 |> 42 /INC EDX

00401077 |. 40 |INC EAX

00401078 |> 8A08 [MOV CL,BYTE PTR DS:[EAX]
0040107A|. 84C9 |TEST CL,CL

0040107C |.A 75 F8 \UNZ SHORT 00401076

0040107E |. 8BC2 MOV EAX,EDX

00401080 |. 5D POP EBP

00401081 \. C3RETN

0040106C XA KAV H FAFH IR BE, A TCIl & Mstrlen, BUSEEIT RGURECA T, RSN T
JZ.

WAk, S AR TR, B = SOL g AED, SE VYA AT IR . AR AT RS
FIJn LR strlen(const char*) 5 {8 B fi# .

FATE 2] 0040113F |. /75 4C JNE SHORT 0040118D Ak it 1 F X —17 .
0040117A|. 68 2A20400 PUSH OFFSET 0040202A ; |Arg3 = ASCII "Correct key"

IREAR, FATELIEX BBk A . eI NOPHIX %454, ibH fall-through, Z1THEKAEAA. A
test, .7~ The solution you need is test

RN key 2 iE i USER32.MessageBoxA & it K, H btk exepuzz0.402094, RI%HE B
0x00402094 %4t
Address Hex dump Command Comments
00401178 |.6A00 PUSHO ; /Argd =0
0040117A |. 68 2A20400 PUSH OFFSET 0040202A ; |Arg3 = ASCII "Correct key"
0040117F |. 68 9420400 PUSH OFFSET 00402094 ; |Arg2 = exepuzz0.402094
00401184 |.6A00 PUSH O ; |Arg1 =0
00401186 |. E8 4900000 CALL <JMP.&USER32.MessageBoxA> ; \apphelp.70048650

T N PR 25 B A7k 70 Hidf B 0x0040206C At
Address Hex dump Command Comments
0040102B |> \68 6C20400 PUSH OFFSET 0040206C ; /IParam = ASCI| "test"
00401030 |. 6A OF PUSH OF ; |wParam = 15.
00401032 |. 6A0D PUSH 0D ; |[Msg = WM_GETTEXT
00401034 |. 6A 66 PUSH 66 ; |ItemID = 102.
00401036 |. 8B4D 08 MOV ECX,DWORD PTR SS:[ARG.1]; |
00401039 |. 51 PUSH ECX; |hDialog => [ARG.1]
0040103A |. E8 9B01000 CALL <JMP.&USER32.SendDlgltemMes ; \USER32.SendDlIgltemMessageA

PLAE, FATTE ST 0x0040206C 0x00402094 P43 7 3R 47 352 5 R4 2 .



Address Hex dump Command Comments
00401104 |. 50 PUSH EAX; /Arg1 => ASCII "cmbipof"
00401105 |. E8 62FFFFF CALL 0040106C ; \exepuzz0.0040106C
0040110A |. 59 POP ECX
0040110B |. 8BD8 MOV EBX,EAX
0040110D |. 68 6C20400 PUSH OFFSET 0040206C ; /Arg1 = ASCII "test"
00401112 |. E8 55FFFFF CALL 0040106C ; \exepuzz0.0040106C
00401117 |. 59 POP ECX
00401118 |. 3BD8 CMP EBX,EAX
0040111A]. 75 21 JNE SHORT 0040113D
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problem 7 Dry Run
F AR, HIRAEH .
Given two variables x and y:
set x=0
for y=11to 100
add y*y+y+1 to x
end for
print x

AU T, st BT UE R A SR .
1+2+3+ ... +n=n*n+1)2

12+ 22+ 32+ . +n?=n*n+1)*2n+1)/6

gi4 BT mAF7E n=100 25 R, 0k 100.

problem 10 Fibber
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problem 15 Transposition
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6x10
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nlkiixeomn

10x6
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atloflgjnheinisoitlhtnalosnetwatlinlwlrheohawdsestnlkiixeomn
atloflgjnh of all th // PLFERILT wmfi
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eohawdsest

nlkiixeomn



atlofl
gjnhei
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lhtnal
osnetw
atlinl
wlrheo
hawdse
stnlki

ixeomn
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// swap columns
ofallt
hegnij
oinsti
naltlh
etonws
inallt
hewrol
dshwea
lksnit
omienx

ofallthegnijoinstinaltlhetonwsinallthewroldshwealksnitomienx

of all the gni joins tinaltl het onws in all the wrold shw ealks nitomienx

of all the joining he owns in all the world she walks

Of all the gin joints, in all the towns, in all the world, she walks into mine..

spoiler alert
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problem 13 Imagine
/I TODO

problem 1 Sokoban1
problem 2 Sokoban2
2 MRS IR, XAMER A T E DS, PR RIS 1 HERE 7R H 17 sokobanili 5 H A .
AH B4 5 5ERT, IAERIN S SR HA B A S Frapplet 17, AREAENI LA T 1o FRATE MM 28 BLELH Ok,
FERAHIZAT .
chromei| i #% F bR £, inspect element
<applet code="Sok2" width="370" height="320" title="undefined"></applet>
X NAEERE N http://www.caesum.com/game/problems/Sok2.class '~ # K.
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SR I5 Y — A TR L I 7L page.html

martin@M2037:~$ cat page.html

<html>

<head>

<meta http-equiv="Content-Type" content="text/html; charset=utf-8">
<title>html page for appletviewer</title>

</head>

<body class="class">

<applet code="Sok2.class" width="500" height="200"></applet>

</body>
</html>

T F JDK LTI 1) appletviewer T BT, JREZ®A XL EM .
LRETETRETRIEA TR, AREMERERNER, BRIEZE RIS ?
RNT R, B jd-gui TH g% 70,

ST G, X4 ki%EPOSTiE R ?action=answer&moves=33331113124222... F| iR 55 .
1234RRFX L FELA TR, RARNTFER T, AEARMNEGE AL B LI ) R .

problem 11 Projectile
SOWASUB AL k7 Eo 8
DA Jyxlr, T L) L gy,
W2t (112, sqrt(3)), (1, sqrt(3)/2) H & TyHixFR, FFHRR
y=-2/sqrt(3) * (X2 - 7/4);
x=0, ] y = 7/(2*sqrt(3));
y=0, Il x = sqrt(7)/2;
"= -4/sgrt(3) * x;
KAy
2*int(sqrt(1+(y")"2), 0, sqrt(7)/2)

int(sgrt(1+x2)) = (asinh(x) + x*sqrt(x"2+1))/2 + C
sqrt(3)/2 * int(sqrt(1+x"2), 0, 2*sqrt(7/3));

; asinh(2)
1.44363547517881034249
;f(X) =%

"X" is undefined

; a=2"sqri(7/3)

; asinh(a)/2+a*sqrt(a*a+1)/2-asinh(0)/2
~5.82816295644181367911

; sqrt(3)/2*(asinh(a)/2+a*sqrt(a*a+1)/2-asinh(0)/2)
~5.04733717767402940018


http://caesum.com/game/problems/math_3.php

;x0=0

; X1 = 2+2/sqrt(3)

; X

~3.15470053837925152902

; sqrt(3)/2 * ((asinh(x1) + x1*sqrt(x12+1))/2 - (asinh(x0) + x0*sqrt(x0"2+1))/2)

5.047 = 5.828 * sqrt(3)/2 wrong!

BOTmHIR T B R, REREN . LoV E O EI— 2 HEs T,

The final numerical values, as displayed, were rounded off to three decimal places.
I B A NBINE =67, TRV TR, (55 = AN

JERAFNE, STt EAERTE LR ) B S, ARSI

problem 22 Coloured Cubes
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A2r, 1g, 1b, 2w
B 1r, 2g, 2b, 1w
C 1r, 2g, 1b, 2w
D 3r, 1g, 1b, 1w

7r, 69, 5b, 6w

viewed from front, back, top and bottom, there are always four different colours on display.
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#include <stdio.h>
#include <assert.h>

enum Color
{

EMPTY = 0,

RED = 1,

GREEN = 2,

BLUE = 4,

WHITE = 8,

FULL = (RED|GREEN|BLUE|WHITE)
¥

void color2String(Color color)

{
switch(color)
{
case RED: printf("r"); break;
case GREEN: printf("g"); break;
case BLUE: printf("b"); break;
case WHITE: printf("w"); break;
default: assert(false); break;
}

}

enum View

{
LEFT,
RIGHT,
BACK,
FRONT,
BOTTOM,
TOP,

COUNT
s

enum Degree
{
_o,
_90,
_180,
_270,
360 = 0,
s

struct Face

{

int number;
Color color;

Face(){}

Face(int number, Color color)
:number(number), color(color)

{}



};

class Cube
{
public:
Face face[COUNT];

public:
inline const Face& at(int i) const { return face[i]; }
void rotateX(Degree d)

{
switch(d)
{
case _0O:
case _90:
case _18@:
case _270:
break;
}
}

void rotateY(Degree d){}
void rotatez(Degree d){}

3

Cube cube[4];

bool meet()

{
for(View v = BACK; v < COUNT; v=static_cast<View>(v+1))
{
#if o0
Color all;
for(int j = 0; j < 4; ++j)
all |= cube[j].at(v).color;
#else

// for loop unroll

Color all = (Color)((int)cube[@].at(v).color | (int)cube[1].at(v).color | (int)cube[2].at(v).color |
(int)cube[3].at(v).color);
#endif

if(all != FULL)
return false;

return true;

void init()

{
cube[0@].face[LEFT] = Face(5, RED);
cube[@].face[RIGHT] = Face(2, WHITE);
cube[0@].face[BACK] = Face(4, RED);
cube[@].face[FRONT] = Face(6, BLUE);
cube[0].face[BOTTOM] = Face(3, WHITE);
cube[0@].face[TOP] = Face(1l, GREEN);

ran Fom—— - A ~ e



cupe|l].tace|LEFI] = race(l,
cube[1].face[RIGHT] = Face(3, RED);
cube[1].face[BACK] = Face(2, BLUE);
cube[1].face[FRONT] = Face(5, WHITE);
cube[1].face[BOTTOM] = Face(4, GREEN);
cube[1].face[TOP] = Face(6, GREEN);

cube[2].face[LEFT] = Face(4, WHITE);
cube[2].face[RIGHT] = Face(5, GREEN);
cube[2].face[BACK] = Face(6, WHITE);
cube[2].face[FRONT] = Face(3, BLUE);
cube[2].face[BOTTOM] = Face(2, RED);
cube[2].face[TOP] = Face(l, GREEN);

cube[3].face[LEFT] = Face(5, RED);
cube[3].face[RIGHT] = Face(2, RED);
cube[3].face[BACK] = Face(1l, RED);
cube[3].face[FRONT] = Face(3, GREEN);
cube[3].face[BOTTOM] = Face(4, WHITE);
cube[3].face[TOP] = Face(6, BLUE);

*/
int map[][6] =
{// 3,6, 4,5
{e, 1, 2, 3, 4, 5},

// rotate X

{@, 1) 4) 5) 3) 2})
{@, 1) 3) 2) 5) 4})
{@, 1) 5) 4) 2) 3})
// rotate Y

{4) 5) 2) 3) 1) @})
{1) @) 2) 3) 5) 4})
{5) 4) 2) 3) @) 1})
// rotate Z

{2) 3) 1) @) 4) 5})
{1) @) 3) 2) 4) 5})
{3) 2) @) 1) 4) 5})
{2) 3) @) 1) 3 4})

{4, 5, 3, 2, o, 1},
{1, o, 4, 5, 2, 3},

{2, 3, 4, 5, o, 1},

{4, 5, 6, 1, 2, 3},

s

void rotate()

{

int a[COUNT]= {2, 3, 1, @, 4, 5};
for(int i = ©; i < COUNT; ++i)

printf("%d, ", a[il);



printf("\n");

for(int 1 = ©; 1 < COUNT; ++i)
printf("%d, ", a[a[il]);

printf("\n");

for(int 1 = ©; 1 < COUNT; ++i)
printf("%d, ", ala[a[i]]]);

printf("\n");

for(int 1 = ©; 1 < COUNT; ++i)
assert(alal[ala[i]]]] == i);

int main()
init();

const size t LENGTH = sizeof(map)/sizeof(map[0]);

for(size_t i = ©; i < LENGTH; ++i)
for(size_t j = @; j < LENGTH; ++j)
for(size_t k = 0; k < LENGTH; ++k)
for(size_t 1 = ©9; 1 < LENGTH; ++1)

{
bool flag = true;
for(View v = BACK; v < COUNT; v=static_cast<View>(v+1))
{
Color all = Color((int)cube[@].at(map[i][v]).color | (int)cube[1].at(map[j][v]).color |
(int)cube[2].at(map[k][v]).color | (int)cube[3].at(map[l][v]).color);
if(all != FULL)

{
flag = false;
break;
}
}
if(flag)
{

//View v = BOTTOM;

//printf("sum: %d, %d, %d, %d, %d\n", (int)FULL, (int)cube[@].at(map[i][v]).color,
(int)cube[1].at(map[j][Vv]).color, (int)cube[2].at(map[k][v]).color, (int)cube[3].at(map[l][v]).color);

printf("solution: (%zu, %zu, %zu, %zu)\n", i, j, k, 1);

printf("LRBFBT\n");

for(int n = @; n < 6; ++n) color2String(cube[@].at(map[i][n]).color); putchar('\n');
for(int n = @; n < 6; ++n) color2String(cube[1].at(map[j][n]).color); putchar('\n');
for(int n = @; n < 6; ++n) color2String(cube[2].at(map[k][n]).color); putchar('\n');
for(int n = ©; n < 6; ++n) color2String(cube[3].at(map[1][n]).color); putchar('\n");
putchar('\n");

for(int n = @; n < 6; ++n) printf("%d", cube[@].at(map[i][n]).number); putchar('\n');
for(int n = ©; n < 6; ++n) printf("%d", cube[1].at(map[j][n]).number); putchar('\n');
for(int n = @; n < 6; ++n) printf("%d", cube[2].at(map[k][n]).number); putchar('\n');
for(int n = @; n < 6; ++n) printf("%d", cube[3].at(map[1l][n]).number); putchar('\n');

/*
// Choosing a corner of A and reading faces which share the corner gives 653
cube[@].face[FRONT] = Face(6, BLUE);



cube|@].face[LEFT] = Face(5, RED);

cube[@].face[BOTTOM] = Face(3, WHITE);
*/

putchar('\n");

printf("%d%d%d", cube[@].at(map[i][FRONT]).number, cube[@].at(map[i][LEFT]).number,
cube[0].at(map[i][BOTTOM]) .number);

printf("%d%d%d", cube[1].at(map[j][FRONT]).number, cube[1].at(map[j][LEFT]).number,
cube[1].at(map[j][BOTTOM]).number);

printf("%d%d%d", cube[2].at(map[k][FRONT]).number, cube[2].at(map[k][LEFT]).number,
cube[2].at(map[k][BOTTOM]) .number);

printf("%d%d%d", cube[3].at(map[1][FRONT]).number, cube[3].at(map[l][LEFT]).number,
cube[3].at(map[1][BOTTOM]).number);

putchar('\n');

}
}
// 653 543 561 126 543561126
return 0;
}
cube.cpp

3% T https://www.cnblogs.com/Martinium/p/electrica_writeup.html
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